Percents Applications Day 1 HW Name

SHOW ALL WORK!

la. In a recent survey, 80% of those responding said they feel that they do not eat enough
vegetables. If there were 1300 people surveyed, how many of them that responded feel this way?

b. How many people surveyed feel that they do eat enough vegetables?

2. There were two candidates in a student government election for 7th grade President, Kate and
Larry. Out of 306 total votes, Kate received 230 and Larry received 76. What percentage of the
students voted for the winner?

3a. You have a jar that contains 150 coins. You know that 16% of the coins are nickels. How many
nickels are in the jar? ‘

b. What is the value of the nickels in the jar?



5. Find the sale price of jeans costing $49.95 after a 15% discount is taken.

6. Find the total cost of a $15.20 CD with 7% sales tax.

7. James wanted to purchase a TV that was 20% off. At the register, James ended up saving $180.
What was the original price of the TV?

8. Inline skates are on sale for 35% off the regular price of $124.99. If an 8% sales tax is added to
the total after the discount has been taken, what is the total cost of the inline skates?
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a. In a recent survey, 80% of those responding said they feel that they do not eat enough
vegetables. If there were 1300 people surveyed, how many of them that responded feel this way?
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b. How many people surveyed feel that they do eat enough vegetables?

1300 - 1040 = 700 eal Uegelebles |

2. There were two candidates in a student government election for 7t grade President, Kate and
Larry. Out of 306 total votes, Kate received 230 and Larry received 76. What percentage of the
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3a. You have a jar that contains 150 coins. You know that 16% of the coins are nickels. How many
nickels are in the jar?
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b. What is the value of the nickels in the jar?
I

2."‘! nickels X $0.05
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5. Find the sale price of jeans costing $49.95 after a 15% discount is taken.

d.!bCoun‘l' |S s X
Originel oo T 4495 44 .95
= 199
ooy + 7H449.25 $
(00 T100 l 2 4
X"& —,qu i ‘$7qq Scle ree_
6. Find the total cost of a $15.20 CD with 7% sales tax.
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7. James wanted to purchase a TV that was 20% off. At the register, James ended up saving $180.
What was the original price of the TV?
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8. Inline skates are on sale for 35% off the regular price 6f $124.99. If an 8% sales tax is added to
the total after the discount has been taken, what is the total cost of the inline skates?

Ohscot.m" _._gds__ o X 'l:a-)‘
or\sind s 124.99 to{—d
|00 ¥ 43724 S
=56 ~lwo
$
X 343.75

121499
=i 1D
53121

) X
.24

B

|00

|
o
¥ :H‘(g.SO

$21.24
+ t.So

)
rad L-Yo)

871,74 mﬂ



